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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Mention any two social problems of India.

		  ^maV H$s H$moB© 2 gm‘m{OH$ g‘ñ¶mE± ~VmB¶o&

	 (ii)	 What do you mean by professional criminal?

		  noeoda AnamYr go AmnH$m ³¶m Ame¶ h¡?

	 (iii)	 Give any two example of material Culture.

		  ^m¡{VH$ g§ñH¥${V Ho$ H$moB© 2 CXmhaU Xr{O¶o&

	 (iv)	 Define Addiction.

		  ì¶gZ H$mo n[a^m{fV H$s{O¶o&

	 (v)	 Mention any two problems of landless labours.

		  ^y{‘hrZ l{‘H$m| H$s H$moB© 2 g‘ñ¶mE± ~VmB¶o&

	 (vi)	 Write any two evil effects of child marriage.

		  ~mb-{ddmh Ho$ H$moB© 2 Xþîn[aUm‘ {b{I¶o&

	 (vii)	Who game the concept of "white collar criminal"?

		  ""g’o$Xnmoe AnamYr' H$s AdYmaUm {H$gZo Xr h¡?
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	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 Explain the impact of Addiction in Society.
	 g‘mO na ì¶gZ Ho$ à^md H$s {ddoMZm H$s{OE&

3)	 Write a short note on gender inequality in India.
	 ^maV ‘| qbJ Ag‘mZVm na EH$ bKw {Q>ßnUr {b{I¶o§&

4)	 Differentiate between personal and social problems.
	 d¡¶p³VH$ Am¡a gm‘m{OH$ g‘ñ¶m ‘| A§Va ñnîQ> H$s{OE&

5)	 Explain the theory of "cultural lag"
	 gm§ñH¥${VH$ {db§~Z Ho$ {gÕmÝV H$s ì¶m»¶m H$s{OE&

6)	 Write a short note on "youth unrest".
	 N>mÌ-Ag§Vmof na EH$ bKw {Q>ßnUr {b{I¶o&

7)	 Describe the concept of illiteracy in India.
	 ^maV ‘| {ZajaVm H$s AdYmaUm H$m dU©Z H$s{OE&

8)	 Explain the various causes of female foeticide in India.
	 ^maV ‘| H$Ý¶m ^«yU hË¶m Ho$ {d{^Þ H$maUm| H$s ì¶m»¶m H$s{O¶o&

9)	 Write a short note on Industrial labour.
	 Am¡Úmo{JH$ l{‘H$ na EH$ bKw {Q>ßnUr {b{I¶o&
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	 Section - C	 2 × 14 = 28

(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 

answer maximum up to 500 words. Each question carries 

14 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Explain the various Reformatory institute of Juvenile 

delinquency.

	 ~mb-AnamY H$s {d{^Þ gwYmamË‘H$ g§ñWmAm| H$s {ddoMZm H$s{O¶o&

11)	 Write an essay on bonded labour.

	 ~§YwAm ‘OXÿa na EH$ {Z~§Y {b{I¶o&

12)	 Describe the various solutions of control on Domestic violence.

	 Kaoby qhgm na {Z¶§ÌU Ho$ {d{^Þ Cnm¶m| H$s {ddoMZm H$s{O¶o&

13)	 Write an essay on "Child marriage in India".

	 ""^maV ‘| ~mb-{ddmh'' na EH$ {Z~§Y {b{IE&


